Exercise 1

Calec. : X

Relier chacune des fonctions suivantes avec le graphe correspondant : 8 marks
Fonction 3cos(x)—3 3 sin(x) sin(2x + 2) 3sin(x) + 1
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Exercise 2 Calc. : X
Ordnen Sie jeder Funktionsgleichung den passenden Funktionsgraphen zu. 6 marks

Funktion

3-cos(x)—3 3 - sin(x)

si

n(2-(x+1)) 3-sin(x) + 1

Graph

R

\(

&

-‘ U
2

SiE s
R

)

o)




Exercise 3

Calec.

: X

Match each of the following functions to their corresponding graph:

Function 3cos(x)—3 3sin(x) sin(2x + 2)

3sin(x) + 1

Graph
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8 marks




